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B 1 SERHIE AR
0.001

HEAIR =1 X A1+2 X A2+3 X A3)/ (A1+A2+A3)

Al . #wHEAE  (ha)  100%
A2 . PiEHmEMAE (ha)
A3 : {BHEFE  (ha)

O TEX 5y

- mE

0
1| RVE gt

i = 4 R
X4y | D2
L2y 0.0
Wawm | 0.7
£\ 2.1

7272L. TDa*TDb* TDcDEA2FF LL F DA 13E N -E 2/ &35,

(4)  ZNAR—HFD1ha47=0EEERERE (TD)
TD = TDa+TDb+TDc
= 243 (Fff ha)
7 VR — P EERRF ) O3 £ OFARE R DA B

35.2+24.3.0= 59.5 (K[, ha)



X 7R D 1ha 4 720 E#EHERT (8 H40)

(1) IFEMVREL TIETOR LIS OFEERFHE (TB11)
TB11 = -6.0XA+6.2XD+11.8

= 11.8

(2) IFEWMVRL TIETOR LR OEERH (TB12)
TB12 = ~4.4XA+0.02 X F+9.4

= 83

(3)  FHEAOEERFR (TB13)

TB13 = -11.3XA+21.1
= 17.6

BRI 1-1T[X

s R A2 X i FE (ha)
0.31
Y [A 5 el /ST
0.001
o EEM)IC LA ER R
0.3
FEE R
A 0.0
HE 0.3
AN 0.9
: REIFEEWE(Cm)
15
F+ERLUE(m)
15

727201, TB11-TB12-TBI3DEAIREH LA FOGAIFE N E IR R E T 5,

(4) Ny 7FETOTha 7= EHERE (TB)
TB = TB11+TB12+TB13

= 37.7 (B[, ha)



/X7 D Tha 4 720 ERARFH] (ARG R, BERESENT)
SHHC 1-1T X

(1) AAFYIRE BRI [ (TBa)

TBa = 1436.9 X AXB+7.6 XD3+14.8

= 9221 A ¢ FHEEY X E EFE(ha)
0.31
B : SEBHIIE AR
(2)  BEREEESTOEARERI(TBD) 0.001
D3 : [FEEWIC LD IERLFE]
TBb = -26.8 X A+39.8 0.9
= 315 P =R
By 0.0
¥ 0.9
(3) A oo EHLRE (TBe) ZaAn 2.7

TBc = -62.1 XA+68.4

= 49.1

72721, TBa*TBb* TBcOMES I BFRI LA F DS E TN E KR ET D,

(4) w7 YD1ha =0 iEERRF ] (TD)
TB = TBa+TBb+TBc

= 102.7 (B[, ha)

I IR DF M O E RO A5
37.7+102.7= 140.4 (KR, ha)



Hh

WX 1-1TX

nJr zIZi’JI: ﬁ%ﬁ&lﬂzt’] IREEREL)
FE —Z0 RIROD BUE x RAOE x
FEl @ B |@ B ﬁ ia EUE | &tmEE | RIOE | R1tEE fi
9123 6,130 6,130 6,130 55 337,150 112 686,560
9-4 2,570 2,570 2,570 33 84,810 79 203,030
9-5 2,410 2410 2410 32 77,120 76 183,160
10 4240 4,240 4,240 62 262,880 68 288,320
31 2,310 2310 2310 35 80,850 66 152,460
33 1,100 1,100 1,100 29 31,900 38 41,800
&it 18,760 18,760 18,760 874,710 1,555,330
XELR-mE/RAR
FHEFEEMTICRIETETFHXE@mE
SHTEEHXEEEha) =R MX O EEEE - R BREXEH
= * 1.88 + 6 = 031  ha
H g 1.88 = 6 = 031  ha
HESEEEICRIED- RIR
yERURS 874,710 + 18,760 = 466 m
EOE 1555330 + 18,760 = 829 m
HESEmE = EEEE = 1.88 ha

ELoHBFHIFES




B2 T AL E R (1/10LAF)

[ X FRFE

S - g 1)
HHH X 1-1 T X
X mo fE S fEFIFE EL 2
& (A) m2 () AXT
9-1, 2, 3 6, 130 1/1000 0.001 6. 130 3
9-4 2, 570 0. 000 0. 000 2
9-5 2,410 1/1000 0. 001 2.410 0
10 4, 240 1/500 0. 002 8. 480 2
31 2,310 1/1000 0. 001 2.310 1
33 1, 100 0. 000 0. 000 1
& 3 18, 760 19 9
Y 2, 084 1/1000 0.001




Bt 3l
BN E A ARl R AR E (1/1047)  (9-1, 2, 31E4)
EHiX 1-1 T [X
F5E 5 IS | RS | EEE | KCTEHERE | HEXIF S m R HE AR =
1 2 3=1—2 4 5 6=3/4 7=5X6
9-1,2,3 3.63 3.48 0.15 137.0 6, 130 0.001 6.13
G 6, 130 6. 13
ST I 5 i 0. 001 1/1000
BRI IE ARG A E (1/10K7)  (9-41F33)
SEHIHX 1-1 T X
IR | R E | AR | EEZE | AKCFEREE [ BFXIE5mE EaE -
1 2 3=1—2 4 5 6=3/4 7=5 X6
9-4 3.52 3.50 0.02 85. 0 2,570 0. 000 0. 00
&% 2,570
S H I A 0. 000
BRI ARG A E (1/10K0)  (9-51F3)
X 1-1 T.[X
FHES | REES A E | e | AKCEEEE | B Sm i e A =
1 2 3=1—2 4 5 6=3/4 7=5X6
9-5 3.25 3.20 0. 05 65. 0 2,410 0.001 2. 41
&t 2,410 2. 41
ST I 5 i 0. 001 1/1000
BRI ARG A E (1/10R7)  (101%3)
SEHIHIX 1-1 T X
FHE S | R E | AR | EEZE | AKFEREE [ 5mE EaEd i
1 2 3=1—2 4 5 6=3/4 7=5 X6
10 3.51 3. 36 0.15 74.0 4, 240 0. 002 8. 48
it 4, 240 8. 48
ST 1) Hls A 0. 002 1/500




BRI ARG A E (1/10K0)  (31IXER)
B X 1-1 T X
FSEE | RS | &RIES | e | AR B IS e AR =
1 2 3=1—2 4 5 6=3/4 7=5 X6
31 3.19 3. 11 0. 08 60. 0 2,310 0.001 2.31
&Ft 2,310 2.31
S 1) His A 0.001 1/1000
% Ek i
BRI ARl G A E (1/10K0)  (331%5)
X 1-1 T.[X
FEE T | REiES | BRIES | Eee | KPR (SIS mE| AR
1 2 3=1—2 4 5 6=3/4 7=5X6
33 3. 54 3. 54 0.00 37.0 1, 100 0. 000 0. 00
o5 1, 100
SE T AL 0. 000




B2 AL E R (1/10LAF)

[ X FRFE

FLARHE N
HHH X 1-1 T X
X mo fE S fEFIFE EL 2
& (A) m2 () AXT
9-1, 2, 3 6, 130 1/1000 0.001 6. 130 3
9-4 2, 570 0. 000 0. 000 2
9-5 2,410 1/1000 0. 001 2.410 0
10 4, 240 1/500 0. 002 8. 480 2
31 2,310 1/1000 0. 001 2.310 1
33 1, 100 0. 000 0. 000 1
& 3 18, 760 19 9
Y 2, 084 1/1000 0.001




TR
BN E A ARl R AR E (1/1047)  (9-1, 2, 31E4)
EHiX 1-1 T [X
F5E 5 IS | RS | EEE | KCTEHERE | HEXIF S m R HE AR =
1 2 3=1—2 4 5 6=3/4 7=5X6
9-1,2,3 3.63 3.48 0.15 137.0 6, 130 0.001 6.13
G 6, 130 6. 13
ST I 5 i 0. 001 1/1000
BRI IE ARG A E (1/10K7)  (9-41F33)
SEHIHX 1-1 T X
IR | R E | AR | EEZE | AKCFEREE [ BFXIE5mE EaE -
1 2 3=1—2 4 5 6=3/4 7=5 X6
9-4 3.52 3.50 0.02 85. 0 2,570 0. 000 0. 00
&% 2,570
S H I A 0. 000
BRI ARG A E (1/10K0)  (9-51F3)
X 1-1 T.[X
FHES | REES A E | e | AKCEEEE | B Sm i e A =
1 2 3=1—2 4 5 6=3/4 7=5X6
9-5 3.25 3.20 0. 05 65. 0 2,410 0.001 2. 41
&t 2,410 2. 41
ST I 5 i 0. 001 1/1000
BRI ARG A E (1/10R7)  (101%3)
SEHIHIX 1-1 T X
FHE S | R E | AR | EEZE | AKFEREE [ 5mE EaEd i
1 2 3=1—2 4 5 6=3/4 7=5 X6
10 3.51 3. 36 0.15 74.0 4, 240 0. 002 8. 48
it 4, 240 8. 48
ST 1) Hls A 0. 002 1/500




BRI ARG A E (1/10K0)  (31IXER)
B X 1-1 T X
FSEE | RS | &RIES | e | AR B IS e AR =
1 2 3=1—2 4 5 6=3/4 7=5 X6
31 3.19 3. 11 0. 08 60. 0 2,310 0.001 2.31
&Ft 2,310 2.31
S 1) His A 0.001 1/1000
LA
BRI ARl G A E (1/10K0)  (331%5)
X 1-1 T.[X
FEE T | REiES | BRIES | Eee | KPR (SIS mE| AR
1 2 3=1—2 4 5 6=3/4 7=5X6
33 3. 54 3. 54 0.00 37.0 1, 100 0. 000 0. 00
o5 1, 100
SE T AL 0. 000




(3) Hph TR EZE

Rt X 1-1ITX



BRI 1-1 T X

1.3 W T

%

e

\
R
P

AKX 1-1 T

T

i

Tl H

B

3
e

HANL

fii =

e T

7K M T AR

1.88

Fe e

1.88

T B = O TR ]

35.2

R 7 R T DIEERRERH]

37.7

ARG, RSN

1.88

T B O s R

24.3

7 7 AR O TERR I ]

102. 7

BER: T

e

i ik -

0. Om2

) hismit

0. Om2

AP b

0. Om2

AT

0. Om2

s lw ||l |0 | ]wWw]Md |~

B lw ||~ |lolo]lo|l N |lo s |w ||~

IS I R I I IRl (R IR I IR N NS IS Il N NS NS Nl Nl IR I ISl Nl NS I ISl Nl I NS I e
olo|o|lo|lo|lo|lo|o|o|lo|o|lo|o]|lo|lo|c|o]o|lolo|o|o|lo|o|o|lol|lolololeo]le




il

B

#

el

1

TR T

KHB1-0.

KHB1-0.

KHB1-0.

KHB2-0.

KHB2-0.

KHB2-0.

KHB2-0.

KHB2-0.

KHB2-0.

KHB2-1.

KHB2-1.

KHB2-1.

KHB2-1.

KHB2-1.

KHB2-1.

KHB2-1.

N ol |lwINn|mlo|lO|0O NS |0 WM~

KHB2-1.

S B S S S S S e S S S S S S S S
olo|lo|lo|lo|lo|lo|o|lo|lolo|lolo|loleo|eo]|e

i

BT 13 (B=3. 0m)

I
Sle|s
o | | e

BT 28 (B=2. Om)

I
R
gl |w|lo]lo|lw|[~]|o

n
ol B S I
olo|lw|~w]|=

o|lo|lo|lo|lolo|lo|lo|lol=|lol=l~]lo|lNM]|O

AN kST

KH ¢ 800

KH ¢ 1000

KH ¢ 1200

PR R T

HEKHE

HEKHE

Pk

VU ¢ 200

12.

VP ¢ 200




wmoOK £ O R

|
ifi ) B

A 11 TX

|
ifi ) B

|
= ifi ) B

£ = = = = = S o ] % (n?) I
Fa | T — RS E i R T oo [ &5 | TN o el e [T RN ET Y |
9-1 1,830

9-2 2,170

9-3 2,130

9-4 2,570

9-5 2,410

10-1 2,270

10-2 1,970

31 2,310

33 1, 100
[t 18, 760 /il /il /Ll

B 5 18, 760




EHHIX -1 TX

EEALE

X HeHi T A MERE S A 77 | BEREAER | mempsipcmns| BEREEAE | MRS
m’ m n’/m m’ m’

9-1 1,830 1,830
9-2 2,170 2,170
9-3 2,130 2, 130
9-4 2,570 2, 570
9-5 2,410 2,410
10-1 2, 270 2, 270
10-2 1,970 1,970
31 2,310 2,310
33 1,100 1,100
/NG 18, 760 18, 760




EHK -1 TK B THELEFHR

BT 1% (B=3. 0m) BT 2 (B=2.0m) (Ch) e A A )
B

H=0.3 [ H=0.4 | H=0. 5| H=0.6 | H=0.7 [ H=0.8 | H=0.9 [ H=1.0|H=0.3|H=0.4|H=0.5[H=0.6|H=0.7[H=0.8|H=0.9[H=1.0| ¢800]¢ 1000] ¢ 1200
9-1 1
9-2
9-3
9-5 1
10-1 1
10-2
31 1
33 1




EHHX -1 TX KT BEEEHF

PEKE PEKE PEKE fi %
CRESRE] B B
HEKIE VU ¢ 200 VP ¢ 200 HEkiE VU ¢ 200 VP ¢ 200 HEkiE VU ¢ 200 VP ¢ 200

9-1 1 1.5

9-2 1 1.5

9-3 1 1.5

9-5 1 1.5
10-1 1 1.5
10-2 1 1.5

31 1 1.5

33 1 1.5

i 8 12.0 B B




(4) ERLHEEFTRE

HuHX 1-1 LXK



EHHIX -1 T X 4.38 B Ll

T i & H #% ¥ & HLAZ
+T Eell| m3
%+ 7.8 m3

Bk B 11.8 m2

B Em it b 11.8 m2

A B m2

Ashiidk m2

AT m2

D) &y 2 t=10cm m2

UZE m2

HEIZEHDY 4.0 m3




X 1-1 TR
ZHERR BRIERSHE

. B=4.0m B=3.0m B=4.0m =
BRI (BHFIGHLE) (AsthiE) (AsthiE) ; %

10 BB 39.1 39.1

op
i




B[R 1-1TX B X 1-1TX BE R LTI B &

% 105 HE R & i B
R Hl 0.0 0.0 m?
Bt 7.8 7.8 m?
BiEmitEs 11.8 11.8 m?
PLEmiEEs 11.8 11.8 m?
KE@mELETS 0.0 0.0 m?
Astig 0.0 00| m
RAET 0.0 0.0 m?
WREE 0.0 0.0 m?
5% 0.0 0.0 m?
L IFERY 40 40 m?




B BEL ZEHER QO

M 1-1 X r+I(1)

W T | E T

A SER FEIEREE Eii: [ Bt EEmi b | SR B | PR B Ashilids AR T ORIl 07 FHFEHY
L Wifrgcht) AR Er | wisrkcnt| o & |weckom| 2R [fosom| AR | wierkom| £t & |wieogcm| S & |wecgom| %% o [fosom]| 2R | wierkom| & |wieogom| % &

(m) (m’/m) (m")| (m’/m) (m")| (m*/m) ()] (m*/m) ()] (m*/m) ()] (m*/m) ()] (m*/m) ()] (m*/m) ()] (m*/m) ()] (m*/m) (%)
105 R %
No.0 19.6 0.20 3.9 0.30 5.9 0.30 5.9 0.10 2.0
No.0+39.10 39.1 19.6 0.20 3.9 0.30 5.9 0.30 5.9 0.10 2.0
B 39.1 7.8 11.8 11.8 4.0




(5) PR LI EFE

HuHX 1-11LX



5.8F K & L

BHHX 1-1 T E
T T i 5| H ¥ & LA ]
7Y 2—2h KF-300 34. 70 m
KF-350 0. 00 m
KF-400 0. 00 m
KF-450 0. 00 m
KF-500 0. 00 m
KT Y 2— A OF-600 X 600 0. 00 m
OF-800 X 800 0. 00 m
BLG T K-174 0| HAET
K—27 0| HpT
K-3%4 0| HAT
K474 0| HpT
K-5%
HIETIA T p-1%4 1| BAr
p-2% 0| HAT
P37 0| HpT
p-4% 0| HAT
p-5% 0| HpT
MR T T ¢ 600 0. 00 m
$ 900 0. 00 m
¢ 1100 0. 00
+T PR A 7.0 | m3
5 3.6 | m3
Kt 37.2 | m3
B ik m A B 51.4 | m2
b kimift: o 10.6 | m2
R B 56.6 | m2
JEHHEIE 14.2 | m2
U7 37.2 | m2
F X TR 16.0 | m3




oKk B E K R F

X -1 T

& W Kk # M m E
KF-300 KF-350 KF-400 KF-450 KF-500 OF-600 X 600 | OF-800 X 800 (m)

D-21 35. 40 35. 40

LN 35. 40 35. 40




SR X 1-1 X

PEAXBEL HE

KA (7Y 2-2))

HEE (2

Hi f:m

KF-300

KF-350

KF-400

KF-450

KF-500

OF-600 X600

OF-800 X800

fii &

34.70

Ty

34.70




RARBET ZEHEEX O

SEHHK 1-1 T M E T
EE O b R
K B 4 s FE R | BERCRIRE | BUGTHE BT [SsTma T BPRET i KBS SE e
(m) (m) (m) (m) (m) (m) (m) (m)
D-21 KF-300 35.40 0.70 0.70 34.70
7 35.40 0.70 0.70 34.70




HEKBE T st 5T 1 BERHI A

M 1-1 T X

HAr:m

Bl

=
o>

Ty

i &

KF-300

o>
g=i10y




HEKES T a5 M7 L)

M 1-1 T X

2 BLY T

HAT:m, 7 FT

Bl

K-174
(L=0.9m)

K-27
(L=1.0m)

K-37%
(L=1.1m)

K478
(L=1.2m)

K-57
(L=1.4m)

o>
ol

KF-300

o>

g




PEKES T HEait 5 () M7 1)

3 At L

X 1-1 T IX YA m, 2
& #t
K 4 & KF-300 KF-350 KFE-400 KF-450 KF-500 | OF-600 X 600 | OF-800 X 800
D-21 KF-300

o
k=113




PEKEE T Hiat S ) M4 1

SRHHX 1-1 T X

4 BLGHTIG T

AL :m, 4 T
BUBTIA T
K 4 Bk p-170 P27 p-3%1 P-4 p-5% & i
(L=0.7m) (L=0.8m) (L=0.9m) (L=1.0m) (L=1.2m)
D-21 KF-300 0.7 1 0.7
s 0.7 1 0.7




PR T B EE) 45T 5 MFIRT
S X 11 T HA m
HIEE R 7 AH )L /N— | b oa— A -
K B 4 A& $»600 | ¢900 | ¢ 1100 600 X 600 ¢ 1000
D-21 KF-300

o

T




B X -1TX

B KB £ T

72N
iy

R

Z D-21 S XM HKE i B4I
PRIE 7.0 70| m®
HER 36 36| m
Bt 37.2 372 m®
Btikmiat kT 51.4 514 | m?
PLEmE LS 10.6 106 | m?
KEmEES 56.6 56.6 | m?
HEEIE 14.2 142 m?
Pra 37.2 372 m?
T IFERY 16.0 160 m°




ABT HEHEER QO

EMiHX 1-1 T r+T()
HE K B T - T
R4 JER TRJERM| Bk [ b} - 28 SR ETTc11 o MR B 1 o ol I S TN A D JLiHEEE UZ¥ F LI XY
L B R 2R B | wipicr| B |wiposcr| S B |wgosom| E B [wiposem| B B |wieosom| 2R B [meomom| B B |mposcem| BB |wieoms| 2R &
(m) (m”/m) ()| (m’/m) ()| (m*/m) ()| (m/m) ()| (m/m) (3| (m/m) (3| (m/m) ()| (m/m) (A (m/m) (m”)
D217 SRR B
KF-300
No.0 17.7 0.20 3.5 0.10 1.8 1.10 19.5 1.50 26.6 0.30 5.3 1.60 28.3 0.40 7.1 1.10 19.5 0.50 8.9
No.0+35.4 35.4 17.7 0.20 3.5 0.10 1.8 1.00 17.7 1.40 24.8 0.30 5.3 1.60 28.3 0.40 7.1 1.00 17.7 0.40 7.1
i 35.4 7.0 3.6 37.2 51.4 10.6 56.6 14.2 37.2 16.0




(6) BiIR+ THEHE

EmihX 1-9T X



+T ¥R B OE R
T 1L o H
ER S 1-1-25 34| 1-1-2-1 5 Hoa A
3} b (F i) m’
86.13 | 144.16 230. 29
S IE m?
43.22 | 74.33 117.55
WA WL m’
b VAL 1.89 - 1.89
w2 WEL m’
fir VAW 4.63 - 1.63
WREL st m’
fir VAW 3.61 8.78 12.39
WpE2 wiL m’
fIRE U EVAWLd 20.68 | 60.78 81.46
WHE3 L m’
Wilhn-7 /b AN R 16. 46 - 16. 46
WpE4 L m’
HRE-7 N AR | 37.23 | 73.12 110. 35




- BOE R OE xR

T ff 1-1TX P B
% B o124 S| 1121 R iz
m

SRR 75. 20 - 75.20
B
m

SRR 63. 60 - 63. 60
3
m

R 8.89 - 8.89
o

Ashfii t=4cm 63. 60 - 63. 60
B
m

- AR RC-40 41.04 - 41.04
o

| - - -
o

TR e t=10cm - - -
m

MR FRT —2 B=150mm| 86.40 | 148.60 235. 00




+T % & 3 5

oo 4 i E2 P/ -
[1-1-25 3 K]
R ERAE 1)) CEARREETRE L) 86.13 m
HmEmEE CEARREETRE L) 43.22 m
KL WE+  [IR# ) CESBERER R E L D) 1.89 m
1 HEE2 WE+  [IR# ) CESERER R E L) 4.63 m
R WAL [IRBha Y CESBERER R E L D) 3.61 m
HRR2 e LMY CEARREERE L) 20.68 m
3 WAL (BB v R CEYREREERE L) 16.46 m
M4 i e B#n-7 A AN R CEIERESIEE L D) 37.23 m




+T % & 3 5

oo 4 B E2 P/ -
[I-1-2-15 3 A K]
PR A ERIAE =) CESBERER R E L D) 144.16 m
HmEmEE CEEIRMESTRE L D) 74.33 m
1 HehtE L WE+  [IR# ) CESBERER R E L D) - m
1 Hehtt2 WE+  [IR# ) CESERER R E L) - m
R WAL [IRBha Y CESBERER R E L D) 8.78 m
HRR2 e LMY CEEIRMESTRE L D) 60.78 m
3 WAL (BB v R CEYREREERE L) - m
R4 WAL (BB v R CEYEEREERE L) 73.12 m




i - I T o B F 5

(LI TR ) ) =« % =
[T-1-253ZH K]
SRR O CPEEEE R & L D) 75.20 M
EHLE RSB CPAREERTRE L V) 63.60 m
T CPAREERTRE L V) 8.89 m
AsEZE (t=4cm) [t=4cm CEEERRET R E L V) 63.60 m
EREEAE |RC-40 CPAREETRE L Y) 41.04 m
1) CERRRER R E L 0) - m
WRIEE  |t=10cm CERRRER R E L D) - m

W RRT —7

B=150mm

CEEHEE RS L D)

86.40 M




i - I T o B F 5
(O T I ZI 1)) B 2y O
[1-1-2-175 3/ I K ]
el CREBREEE A E L) - m
RS CPBREEE A& L) - m
i ik CEBREEE A& L) - m
AsHli4E (t=4cm) [t=4cm CEEIERERH A E L V) - m
FEAE |RC-40 CEEHEER RS L D) - m
el CEBREEE A& L) - m
WHIGEE  [t=10cm CRBREEEH A& L) - m
13377 — 7 |B=150mm CESIBERER RS L D) 148.60 ™




SR ]
. ELFF)W #i’;}#)ﬁmf ZZE SLEETE IR IR 1 2 RS ET
" " i HE_| Wil O T O T HE_| il HE | W | BE
1-1-2 53R K
No. 0+2 0. 00 1. 69 4.23 0. 50 1 0. 05 0.13 0.14 0.35 - - 0.21 0.53 0.24 0. 60
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